(0 @) (rad)

SICEWATL

o p/p.)

Ratio

=
<

[y
TTTT] T T

Tistne LT T
G U

1

2 3
TPlpoT (PCA t%obeamliné[f)

a(d cot(d))
5

e
-

1072

1073

-+

=
o
iN

2 3
TPlpoT (PCA t%obeamliné[f)

—=— DQM_V0001_R000000001__Global__mkFit_baseline

—e— DQM_V0001_R000000001__Global__mkFit_jcore50maxCand-24DUPremoval-1000
—— DQM_V0001_R000000001__Global__mkFit_jcorelOmaxCand-24DUPremoval-1000

-+

Y
—+

1

,_.
<
L

1‘ """ +*’*++++'F++++++;'++ --------------
O IERRAEAREELIEEREEE P S
0.8k H ‘14
101 1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o

g 1 R

S

gN

=)

e}

107}

1072

01053 ;

s bl : ﬂ : i

hd L ; B a
£l Hﬂ% I
0.95L i i :
1071 1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


